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P.S. Physics (Chapter 3) Force Practice Problems
me

Directions: Solve the following force problems. Show all work and label to
receive full credit.
1. A baseball with amass of 0.8 kg is given an acceleration of 20 m/s/s. How much

a(applledt ega;;\,57.> ]:: ‘b N

2. Agolfball hit W|th aforce of 15 N travels with an acceleration of 25 m/s/s. Whatis

the massof t egolﬁSlI!?! -
d 25| M= 0. Lﬁ

3. Aforce ﬁlgoo I\\Wthoa 1000 kgcar. Wh.a—t isthe%accre;e\rrs- nofthe car?
000 AL

4. How much forceis requiredto give a 20 kg bicycle an acceleration of 12 m/s/s?

F= @ow)(lam)  F= 240N

5. Atennisplayerhitsaball withaforce of 4 N. If the mass of the ball is 0.25 kg, what

will be the accelerati fthe ball?
= UN =16 mfst

6. How muchforceis requiredtostopa 1200 kg car in 2 secondsif the car is avellng
ata speed o& m/s? (First calculate acceleration.) l’bfz N
|

S el R e ()

7. Duringal0 secondinterval, abusincreasesits speed from30m/s to 36 m/s. If the
force appliedtothe busis 12 500 N, whatis the mass of the bus? (First calculate
accelerati \/2'500

0= §€'3° OSmls M= 55 ywn=25000 kﬂ

8. Aforce applled toa 0.25 kg hockey puck gives the puck an acceleration of 16 m/s/s.
What acceleration would the same force give to a 0.5 kg baseball? (First calculate

ore he puck.) 1
0 (IR S 2
9. How uch force must be produced by the engine of a900 kg racing car to move the
car from rqﬁto a speedof 40 m/sin4 seconds? (First calculate acceleration.)

ac: g W lomjs2 P‘-@O‘)k&(ﬂm‘a‘) -0t

10. A12 kg rock dropped from a tenth story window falls to the earth with an
acceleration of 9.8 m/s/s. How IargeFtheCrce of grayity pulluig onthe rock?

LUNd ) =076
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Suppose two 4-newton forcesactonan objectinthe same direction. Whatis the net
force onthe object?

N
ERRE

:;vrzggizﬁlr;;orceésct on a\n&i ct. ﬁzpﬁs&m&ﬂ%he%:tf\ﬁe on t(re&ké:;fj
<y
(a0 ) 3y Tsn (aN)

An automobile withama sof 1000 kilograms accelerates when the trafficlight turns
green. If the netforce onthe car is4000 N, whatis the car’s acceleration?

= WM sy min

o Ké
Calculate the acceleration of a 2000-Kg single engine airplane just before takeoff when
the trust of it engine is 500 N.

Calculate the acceleration of a 300,000 ngumbgjetJest before takeoff when the thrust
foreach of itsfourenginesis 30, 000 N.
8 q)ooo ‘{\L\

K= Wooo 02 0.4 W\‘51'

Calculate the honzonta@orce that mustbe appliedtoa1-kgpuck to make it accelerate on
ahorizontal friction-free airtable with the same ac)cileration itwould haveifitwere

dropped and fell freely. F., (OI.(‘W\[)" ‘)C O\,XN

Whatis the weighton Earth of a girl with a mass of 30 kg?

(30 \L@( O\.Xml{") W< LI¢N

If a 1-N net force accelerates a 1-kg mass at 1 m/s2, whatis the acceleration caused by a
net force of 2N on a 2-kg mass? Z.N

A O

Calculate the force acting afalling 1 kg mass.
= (W(p(%m[{") F< 4]V

Aforce of 20 N acts upon

a5 I.f. IoZIQ([aculatetheaccele tion ftbeobject
A= n- Qm[s

51y
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22.

23.

24,

An object of mass 300 kg is observedto accelerate atthe rate of 4 m/s2. Calculate the

A = N ratlon))wm") F= (200N

A hockey playerhas a mass of 12 g. How much does he weigh?

v=15%)(48) we lzse)

Supposeadance\rvﬁigksdli\%ougdé.OH?a Bch doesshe WEIT}; q k,\(q Ynl
W= yqq2 N
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